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QUESTION 1

Which of the following is not an Alfresco-supplied subsystem category?
A. Dictionary.

B. Authentication.

C. Audit.

D. Search.

Correct Answer: A

References: https://docs.alfresco.com/community5.0/concepts/subsystem-categories.html

QUESTION 2

What is the default value of the element of a web script descriptor, if one is not specified?

A. None.

B. None for GET Web Scripts, "required” for POST/PUT.

C. Required.

D. Depends on the value of

Correct Answer: A

None specifies that no transaction is required to run the web script. This is the default value if the transaction level is not

explicitly specified, and the authentication level is none. If the authentication level is not none then the default value is
required.

QUESTION 3

A web script descriptor uses the "runAs" attribute of the " element. What limitation does the web script have?
A. They cannot be used with Tomcat 7.
B. They cannot reside in the classpath.
C. They are not automatically reloaded.

D. They cannot reside in the data dictionary.

Correct Answer: D

QUESTION 4
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Which of the following method-level security definitions, will filter array of members, returned by the method, based on
the access conditions applied to each member?

A. AFTER_ACL_NODE.O.sys:base.ReadProperties
B. AFTER_ACL_NODE.sys:base.ReadProperties
C. AFTER_ACL_LIST.O.sys:base.ReadProperties
D. AFTER_ACL_LIST.sys:base.ReadProperties
Correct Answer: B

Reference: https://docs.alfresco.com/4.2/concepts/secur-methodlevel-define.html

QUESTION 5

Which statement would return the username of the currently logged-in user?
A. session.userName

B. session.properties['cm:userName"]

C. person.userName()

D. person.properties.userName

Correct Answer: D

References: https://community.alfresco.com/thread/166713-javascript-name-of-current-user
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